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4.3 EXPANSION JOINT

isscran EXPANSION JOINr(A1fltrUU)

- 1411i'lu?u EXPANSION JOINT = (50.00/50.00) - 1
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10.00 r.r. t10l

25.00 gti.x.i. I11l=l9lxt10l

25.00 rli.il. 11ll=[e]xt101

5.00 u.

50.00 lt.

0.15 r.
0.05 r.
0.50 11.

afl:tuvl 1 1r.

.;
an:ilv] 1 vlou

onSfuvt 1 l.l.

on:ilvt 1 il.

on:fuvt 1 lJ.

a!
nn:rufl 1 vtou

on:fuvt 1 tl.

Ftn:illl 1 1.r.

nn:ilvr 1 1r.

0n:fuvt 1 nfl.

Frfl:[ull 1 nn.

t1l

12)

t3l

t4l

t5l

- flfl.

50.00 }r.

..i^"- u d!

tJ.

2.50 :J.

19.00 il}r.

0.50 rJ.

5.00 viou

t13l

tlal= t10l/[13]

t15l=[e]

[16]=t1alx[15]

u7)

t18l= tell[17]

tlel=t101

[20]=[18]x[1e]

121=1161+1201

t22l

123)=l2I)x1221

124=(23lx2s)/1,000

lzsl

126l={2)/12s1)-l

127)=11)x1261

t28l=Le)

Lzel

t30l

L31l=t271/t301

Estimate 1/2



- nr6n Doaret bar 1 riou t r,l

-rrartnnndn Donret ts = 5-(X) x 0-50
.:ea,rnlz$iTnfuu*rftrp ilnn 19 ut ir[art 1 u rih

-gU Dcrd. br rrfinirrrar rtn 19 ut nih --25r2-B
MEIAI CAP = irtrlrrrfn Dcrret b
X1 JOI{T RITB
-ffiS€dt€r)rur1ru
-ffiSetter)trElLtru
- *# roat Flttter = 2-5 x (0.15 - 0.025)

Ii1 JOINT SFtrLLER

- rBno kfnt Seatter = 2.5 x 0.025 x 0.025 x 1,000
tvrnDrnru[w

- rFurolfiurru = 2.5 x 0.15

4.4 CO{IRACTp|I JOINT

:EF'OI COT.ITRACNON JOINT

- *nrru cor.rrRAcnoN JotNT = (50.00 / 10.00) - 1l - 0.00

- irEsrlTDr COTJTRACnON JOINT . 5,00 x 4.00
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10.00 4u.il. [70]=([3]+[4])xl2lx[5]x2.00


